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State Eligibility Test - 2018
(Model Answer Key)

Economics

Q1 : What is the theme of Recapitalisation of Public Sector Banks?

Hraeiieieh &l & depl o Yeaqoltentor T fawar F21 §?

Customer responsiveness

Mg STaTacer

Increase credit off take

shigc 3iTheeh JoIT

Deepening financial inclusion and digitalization

fa gaATaere 3R f3faeeienior & Joiqd e

All of these

D

SqIH 4 Tl

Answer Key: D

Q2 : Which council act as a dispute settlement body in the World Trade Organisation?

FiadT gRYE 32T IR Teroad # Qe [T [T & & 7 -7
FIdr 872

Executive Council

e aRweg

General Council

AT IRYE

Academic Council

JFEAS IRYE

D [ None of these




$TH § PG ACH

Answer Key: B

Q3 : Which one of the following subsidies are not available to the developed
countries?

fAFAfafEd et & @ FHladr fawfad et & o 3ucrsy =18t &2

Amber Box subsidies

3FST dierd 3feTeTd

De-minimis subsidies

31 - AfAfAT sreger=

Green Box subsidies

mﬂaﬁ'&ra@aﬂ

Special and differential treatment box subsidies

D

faaY 3R 3R 3TAR dierd 37geret

Answer Key: D

Q4 : Keynsian Liquidity Preference theory explains the

FHlegIT alolar I {eea sgad F:aT g

Operation of the money market in an economy

3r¥cgaEdT A Hel 6k #1 fshdreaae

Interaction between the real and monetary sectors

Aifge vad areafas a3 & ALY ek TaY

Motivation for speculation

TieaTsi T drcargs

Process of adjustment in money and capital market

D

T UG Yol araiR T gfshar & FFsiiar

Answer Key: A




Q5 : The economist who emphasized wage flexibility as a solution for unemployment
were

fore e aarr § T oaqul ASqdl SIS & §el &7

Keynesians

HlegdeT

Post- Keynesians

g & dIc

Classical economist

gfafSaa sreme

New Keynesians

D

T Hew

Answer Key: C

Q6 : Cobb-Douglas production function Q= AL® KT%4oes not possess the
characteristic of

PIT ZITAT 3cTTe Bl Q= ALY K05 sl a1 o1eqor gy «T8r &2

Constant return to scale

AT &1 R gidher

Unit elasticity of substitution

GTAEATIeT &1 ShTs ol

Variable elasticity of substitution

gfaEardsT & aRads T o=

Linear homogeneity

D‘l@htrumw

Answer Key: C




Q7 : A situation in which economic actors interacting with one another, each choose

their best strategy given the strategies of other players have chosen, is called

T U Fgr R franefier 3nfdes f@arsr 39 gafcad oEsfa
TIT Fd &, ST8T 3T f@anfsat & wehfaar & a5 &, Fgdrar o

Socially optimal solution

FANSS T @ 3HeJheldH &l

Nash equilibrium

ST gy

Competitive equilibrium

gfaaeh g

D

Dominant strategy

GadT 0TI

Answer Key: B

Q8 : Match List I with List II :

List | List 1l
(a) Consumer’s Surplus (i) Supply decision
(b) Utility theory (i) Artofadvertising
(c) CostAnalysis (iii) Progressive taxation
(d) Product differentiation (iv) Welfare economics
foree 1a1 T 18 fAarT fifae:
- T -
(a) ITvRT Y ST () amafd faorr
(b) ITAfETar feid (i) fasmaer &r e
(c) emETg  fazewor (iii) waTfaefer ST
(d) a¥g faag (iv) Feamor 3T

9

N




(a) (b) (c) (d)
(iv) (i) (i) (ii)
A
(a) (b) (c) (d)
(iv) (i) (i) (ii)
(a) (b) (c) (d)
(iv) (i) (ii) (i)
B :
(a) (b) (c) (d)
(iv) (i) (ii) (i
(a) (b) (c) (d)
(i) (iv) (i) (i)
C
(a) (b) (c) (d)
(i) (iv) (i (i)
(a) (b) (c) (d)
(iii) (iv) (I) (ii)
D
(a) (b) (c) (d)
(i (iv) (i) (ii)

Answer Key: A

Q9 : In which one of the following situation, a country should pursue a cheap money
policy ?

AT & @ Flad aRTEAfAt & v o @ FEdr Hor Afd A g
EIY

Level of economic activities and employment is at low

3nfde sifafafat &1 TR 3R AR &1 A g

Gold is likely to flow outside the country

HieT T AU AEY T 3R YdIg T THGT Blell

Price level is rising

P TAX T FGaTl

D [ None of these




SAH U FIS QT

Answer Key: A

Q10 : Liquidity preference refers to

aCelaT a{dT & Hefdia e §

The extent to which investors/public prefer to keep their assets in cash form

fora g oo [AUH/STTdT 39 AU @ Aog &7 & [T T P &

RBI's shareholding in other financial institutions

3T AT TEUTEAr # ARABTS & R RO

Community's preference for gold

QT & fav adgery $r ol

Community's effective demand for capital goods

P | defrorer et & Rre T g w

Answer Key: A

Q11 : Stagflation can be explained by
IR I SATEAT FAT §

Workers push costs upward and thereby initiate inflation

A|HSII & ARETA &l 3W &I 3R el fGar 3R 38 Rg Aerehiia gF g
J

Wage increase which leads to productivity increase, thereby setting off inflation

B |AsTqll # 35fT g ¥ 3curgadr # FEfY g & wd Agehfa @en @
3

A leftward shift in the aggregate demand curve

THIT AFT doh A T P dSATd

A leftward shift in the aggregate supply curve

A G ash A afT /b dgend




Answer Key: D

Q12 : With reference to the budget deficits, consider the following statement:

1. There can never be a fiscal deficit without a revenue deficit.
2. There can never be a primary deficit without a fiscal deficit.
Which of the above statement is/are correct?

gl °1eT & HeH H, f=ifai@d sl W AR #38;

1. ToIEg °1¢ & 19T TSI grer T ot a7 g Jardrl
2. TSP =1 & 91 wafAe arer #3f A8 & Gehdr gl
3RIFd YT H FAT Tl 87

1 only

1 hael

2 only

2 Shadl

Both 1 and 2

gt 131 2

D

Neither 1 nor 2

Tar 13T &2

Answer Key: B

Q13 : If on Monday € 1=$0.57 and on Tuesday € 1 =$ 0.68, which of the following is correct regarding € to $ exchange

rate ?

Iie AHAIR F € 1=0.57 TATHIAIR A € 1 =$0.68, A € T $ AT
& & e AFT I

Dollar appreciated
STery T JTFed E37 &

Euro depreciated

T T HGHeTA g3 §

Both Euro and Dollar appreciated




T AT SleR ekt T AT T g3 &

Euro appreciated and Dollar depreciated

D

T T AAHeTA TAT STeR FT ITHeTT G ¢

Answer Key: D

Q14 : With reference to Gross Domestic Product (GDP) deflator, which of the
statements given below is/are correct?
1. It is the ratio of the value of goods and services an economy produces in a
particular year at current prices, to that at price prevailing during any other
reference (base) year.
2. It is also called implicit price deflator.
3. It measures inflation.
Select the correct answer using the codes given below:

Hehol EXe] 3cUIG (GDP)3TIERITIRR (Deflator)dh el #, o & 18
SITAT H F Pl AT eI g?

1.8 U A9 a¥ # Alger HaAdr W 3riegaeyr & 3curg 3R Gansit
& T H AT ¢ ot forer off 3 West (3MUR) Ay & gl
yafeld Al W &l

2.3 WIFATIT Hed JTEhideRen(SFeiex) T &gl ST gl

3. Ig HEERIT s AT g

oA fed 1T Al &1 ST Feh HET 3R G-

1 only

1 hael

2 only

2 hdol

1 and 3

13k 3

1,2 and 3

D

1,23 3

Answer Key: D




Q15 : In economics, which of the following best explains the significance of a Phillips
Curve?

3emE A, Arfaf@a & & &l a9d 3rcer hfocd o &1 #Agca
T §?

It shows the inverse relationship between the rate of unemployment and
corresponding rate of inflation.

Ig AU At R Heredifa & a3 & drer faulia day a1 g g

It shows the direct relationship between the rate of unemployment and corresponding
rate of inflation.

Ig SRISETRT I &3 3R Farehifer 1 T o o Jegel T T gailar gl

It shows the inverse relationship between the rate of poverty and corresponding rate
of inflation.

Ig TS B I IR AgERfT i @ F fa Roda d@§u @ g g

It shows the direct relationship between the rate of poverty and corresponding rate of
inflation.

Ig IS T &I R AGERTT Fr G F T TegaT FEY gt B

Answer Key: A

Q16 : Speculative demand for money is zero when market rate of interest is

Hl & IRehousll AT Y Bl SId SN sAqTeT &I 8l

More than the 'critical rate'

shifde &3 I 318+

More than the market rate of interest but less than the critical rate

TSR AT X/ 30 W Fifas X & & &

Less than the market rate of interest

IO 1T X &H &l

Lowest

IGE= G




Answer Key: A

Q17 : In accelerator theory, capital-output ratio is assumed to be

caeh Tleerd &, Yoll-f9d Jiequrd AT Sier §

Increasing

Decreasing

gcdr §3-1T

Constant

F=iry

D

Independent from level of national income

TS 3T TR & TadT

Answer Key: C

Q18 : Determinant of maximum profit for a firm is

®H & forv fhad amer &1 fauRor gar g

Price

AT

Average cost

3ia orera

Both average cost and price

3Ea orerg 3R freaa et

D

The output level

3cqiq ol TN

Answer Key: C

Q19 : Which of the following is called as the Gossen's first law?




rafaf@a & aiaar MAT 1 ggar FIH Fgarar g?

Law of diminishing marginal utility

AT 3y fPrar-ga @as

Law of equi-marginal utility

gH-AHT 3uAfaar @

Law of demand

AT &1 Agd

Law of substitution

D

gfaTage &1 @ad

Answer Key: A

Q20 : The Chamberlin's oligopoly model assumes that
AFR Tl & HeURIHR Al AT § &

Firms recognize their interdependence and maximize profit

BH 3 WER AIRGT & ggaeid & 3R o197 & 3ifeesas g &

Firms without recognizing interdependence minimize industry profit

BH YT RER FAIRAT AT Igaler 9T 35T9T & @19 A A Al &

Firms recognize their interdependence and maximize industry profit

BH 36T [AIRAT T IgareTd § 3R 3T & o1 A HfUSdH A &

None of these

D

ST U HIg G

Answer Key: C

Q21 : The first theorem of welfare economics states that

HeTOT 37T T Ugell YHT Hgdl &

A | All prices are equal in a competitive equilibrium




gl et gfoeadl dderst & qaeT 8

A competitive equilibrium is Pareto efficient

FfTEaeff Telel Nl FHruel &

A competitive equilibrium maximizes the supply of goods

gfceatt dqere aEg3it $T MY S HhAH HT §

A competitive equilibrium will maximize profit

D

gfereqeff Feret o A HHAH FAT §

Answer Key: B

Q22 : Which of the following is not correctly matched ?

fAeIff@d # F&ia T & Ao 78 @rar g2

Absolute income hypothesis : Keynes

faxder 3T IRehedaT : Hied

Relative income hypothesis : Duesenbery

qET Y IRFeTAT : STHANRT

Permanent income hypothesis : Friedman

TARY 3T YR&eTaT : HisA

Life-cycle hypothesis : Baumol and Tosin

D

ShaaT-Tsh YReTaT : JTAeT 3R afds

Answer Key: D

Q23 : A tangency point between an isoquant and an isocost line identifies

3G R T X & fw v w0 @ 6y G §

The least cost combination of inputs required to produce various levels of output

A|3curesT & fafdiee TRT & 3culesd & fov 3mfald 3meTd(39e) FT 31y

CIEIGIREIRG

B | The various levels of output that can be produced using a given level of inputs




3Tl & G IR TAT T 3UANT Hleh 3cUlesT & AiHeT Tl &l 3caiead
frar ST goar &

The various combinations of inputs that can be used to produce a given level of
output

AT & TRt TATSTAT HT 3T S TR T 1T T & 3cuig & v
forar ST g&har §

D

The least cost combination of inputs required to produce a given level of output

T I 3T TR & [T T T 3769 JRETT AT

Answer Key: D

Q24 : Which theory is generally included under micro economics?

FieTar AU 3MAAR R g&d 3emeT & 3ided afFAfaa fmar am=r
g7

Price theory

AT deurd

Income theory

I fAerd

Employment theory

AR e

D

None of these

$TH / PIg AE!

Answer Key: A

Q25 : At point of satiety, marginal utility is

dfta & fog o, Weid 3u=nferar §

Zero

/[T




Positive

YollcHh

Maximum

EIbETrs]

Negative

D
HOTcHS

Answer Key: A

Q26 : How much physical output a worker produces in an hour's work depends on

Ush §¢ & FIH THh A% foraar #ifaes 3caea sear & ag AR
AT &

The worker's motivation and skill

A Hroom iR Hierer o

The technology, plant and equipment in use

dahaileh, Tolle 31 3Ua0T & 39T 0T

How easy the product gets manufactured

3cUTe, T AT fohdelT Tgaldr & 8T ¢

All of these

Dirmfr

Answer Key: D

Q27 : Which of the following is the basic characteristic of oligopoly?

AT & @ A 3eTFER f giAare e g2

A few sellers, one buyer

$S fashdl AR TH TR

A few sellers, a few buyers

o fashdr IR Fo TR




Many sellers, a few buyers

%g fasharl 3R Fo TR

D

A few sellers, many buyers

Fo fashdr IR F3 TR

Answer Key: D

Q28 : The condition of Pareto optimality hold correct under

N SSeaH GIEATIE) dr TUfT & ggd afaa &

Perfect competition

quT gicr T

Monopolistic competition

UHITIRRIcHS FTaAITarar

Oligopoly

eI

D

Monopoly

UhIThR

Answer Key: A

Q29 : The shape of average fixed cost curve of the firm will be

®a & 3ad FER e g g

Parabola

qdeld

Circle

dsh

Straight line

e Y@r

Rectangular hyperbola




IR gI3uaTell

Answer Key: D

Q30 : The meaning of word 'economic' is most closely connected with the word

'W'%Rwyﬁmama:mumﬁwﬁgagm%?

Extravagant

LG

Scarce

goleT

Unlimited

AT

Restricted

D

EIGCIBG]

Answer Key: B

Q31 : Which of the following are Government of India's debt obligations?
I. State provident fund
II. Small savings
III. Reserve money
IV. Reserve funds and deposits

afaf@a & @ Fi9d IRT TR T FoT eI g2

15T #Afasy fAfe

I ¢ &<l

11 a7

vV Rea g AR fBuifeea

I and II are correct

13T naEgdr gl

B |I, Il and IV are correct




L3R 1vaEggl

IT and IV are correct

3R 1V T@Er gl

I, IT and III are correct

D

L3R nraergl

Answer Key: B

Q32 : What does Hedging mean?

efSier &1 ared T 82

The acceptance of a foreign exchange risk

el Ay fEa fr THe—ar

The covering of a foreign exchange risk

e JIfaaT @A Hr FHalker

Foreign exchange speculation

face RfAFT aReegar

Foreign exchange arbitrage

b el fIfeHy fSae

Answer Key: B

Q33 : Public debt management refers to
HATdoTieleh FOT YaYl TG A Xl ¢

Terms of new bonds

T g Frerd

Proportion of different components of public debt

qraeifeieh ROT & faffieet et & g &

C | Maturity




gRgeFadr

All of these

D

I gafr

Answer Key: D

Q34 : Capital deficit in India is
HN T Yailerd ©1er &

Zero

T
o

Negative

FOTcHE

Positive

YollcHR

None of these

D

ST U HIg G

Answer Key: C

Q35 : Regression of Y on X is the study of
X XY & IiA9erHeT &1 HeaTqT §

Estimating the degree of linear association between Y and X

Y 3R X & faif@s agaer i Fife F1 3l

Estimating the degree of independence of Y from X

X Y A Earasa e &1 3ehold

Estimating the average value of Y on the basis of the fixed values of X

X & AT HAedl & MUR W Y & 3T Hed & HTeheld

D | Estimating the degree of responsiveness of X to Y




X ¥ Y & 3edca i Hife &1 3meheed

Answer Key: C

Q36 : Type I error consists of

YUH YR H I A g B

Accepting a false hypothesis

Ueh ITeld IRFeTeT I TAIPR hadl

Accepting a true hypothesis

Uh T<ul YRe&hoTadT sl TATRR hiadl

Rejecting a false hypothesis

Uh ITTd IRhoTedl hl 3EAIRR hlall

Rejecting a true hypothesis

D

Ush T<ul YRehodadl sl 3TATRR hiadl

Answer Key: D

Q37 : When poor economies grow faster than rich ones, the phenomena is termed as

o9 IS 3Feqae U’ AR degaeyr 1 Joe H ol & Feo g, dl
SH °UCaAT I &gl oIl ¢

Dispersion

herra

Divergence

CERG

Convergence

FfATRoT

None of these

D

ST/ PIG AT

Answer Key: C




Q38 : Extreme observation mostly affect the case of

cAH el Gad SITGT THTTAT HIAT ¢

Median

ARt

Mode

TgeTh

S

Arithmetic mean

HTET

None of these

D

STH IS e

Answer Key: C

Q39 : For a normal distribution

AT AT & fow

Standard deviation is smallest and quartile deviation is largest

AT faerelel @98 Bler 3R aqdes fawae qed 37 §

Standard deviation is largest and quartile deviation is smallest

Al fadelel @ 931 3R Tl faucel T Ber §

Mean deviation is greater than standard deviation

g fagaa A e & 310« §

Quartile deviation is larger than mean deviation

D

aqdeh fauelel A fawele @ &7 §

Answer Key: B

Q40 : Which among the following is the likely cause of inflation ?
1. Lowering of policy roles by Reserve Bank of India
2. Buying back of Government securities by the RBI from the open market




3. An Increase in MGNREGA wages
4. Decrease in indirect taxes by Government
Select the correct answer from the codes given below:

fArafaf@d & @ flaar FgefeRIfd s1 FROT g FhT &7

1.ARAT RS S&(RBI) GanT diferdt &3F & HaAr

28R Rotd dh gaRT el a6 A SXhRI giaeffadt & g1 Tlieer
3. AN (MGNREGA) T Folgll # gefer

4. FTHR SaRT 3T9cTLT A H HAT

A & I I3 @ T 3R o

1,2 and 3

1,231 3

1and 2

13 2

1,3and 4

1,33 4

All of these

Dﬁrmﬂ

Answer Key: A

Q41 : Okun's law postulates a

3pet T TAGH AT

Positive relation between unemployment and real GDP

S 3R areafds GDP & g GRIcHS deel

Negative relation between unemployment and real GDP

SIS 3R aredfds GDP & g AhRIcAS T

Positive relation between money supply and price level

Hel 3 3R Hed TR & €T GhRIcHS JaeT

D | Negative relation between money supply and rate of interest




Hel 3Yfc 3N AT X & o FAhRIcHAD Heer

Answer Key: B

Q42 : In dual gap model, the gap can be filled by

1. Raising the level of saving
2. Export promotion

3. Steady rate of growth

4. Foreign aid

&l eI AlSd #, 3Tl &l AFATATET & SaRT FIT ST FohelT &
1. 9dd Sl EAY 3TN

2. f T # Sorar e

3. Ggef¥ &l TYRY &X & @Rl

4. facelr nfdes Fgrar garr

1,2 and 3

1,231 3

1 and 2

13K 2

1,3and 4

1,331 4

D

All of these

I gl

Answer Key: D

Q43 : The terms of trade refer to

IR &7 AAT F 3T &

The excess of import expenditures over export earning

foaTa 3 @ 3aa @y 3w

Trade agreements




IR AT

The ratio between export prices and import prices

foer et 3R 3T Feat & & @ 3egard

The terms and conditions on which a country is offered loan in the event of balance
of payment difficulties

P spramer sricera A1 RUfy # T &u # HOT A G I W T I
fore 3R et

Answer Key: C

Q44 : Women participation in employment remains low. Which of the following is/are
the reason(s) for the same?
1. Job deficit
2. Scarcity of suitable job opportunities
3. Rising family income
4. Culturally patriarchal society

ﬂwﬁnﬁmmﬂaﬂwaﬁg@%ﬁmﬁﬁﬁmmﬁv
HIROT g2

1 ST T AT

2 3G USHIR & IaERT HT hey

39RaR Fr Fodr 3T

4 FIEH A TAqadTcAs TS

1 and 2 only

13T 2 shaor

1,2 and 3 only

1,2, 31X 3 ol

1,2,3and 4

1,2,3,3R 4

1 and 3 only

1 31X 3 shadl




Answer Key: C

Q45 : A series of numbers is: 16, 3, 11, 14, 5, 8. What is the mean for this series?

&3 T Teh ATl 8 16,3, 11, 14,5, 8. 37 ATl & foIv AT 241

&7

9.5

9.5

8

8

11

11

D

14

14

Answer Key: A

Q46 : The two tails of the normal distribution extend

AT fa¥or Hrar 39y [FeaRa s &

Definitely and touch the horizontal axis

Afeaa o I 3R afas 3787 FF TIT X

Indefinitely and touch the horizontal axis

AT & F 3R Afaer 3187 & TIT W

Definitely and never touch the horizontal axis

Afaa & A 3R SfA 3787 FF FaT off a7 T W

D

Indefinitely and never touch the horizontal axis

AT 7 T 31 Feft AT 3187 o TIY T W

Answer Key: D

Q47 : Small changes in the data can cause sensitivities in OLS estimators and their

standard errors when there is




3ierst 7 BIC IREAT & HROT OLS 3efATTh #H Hdgaaerdr 3K 3afehr
AleTeh AT T HNOT e Hehell ©

Heteroscedasticity

ASEIRSIC]

Autocorrelation

A gFalud(3Nerh R erer)

Multicollinearity

a‘g—mﬁ@m

Non-normal errors

D

IR-arA Jiear

Answer Key: C

Q48 : Assertion (A): Life-cycle theory assumes that the person know the number of
years he will live.
Reason (R): According to life-cycle theory, people tends to consume more at
their retirement.

HYUT (A): Shaad gsh FAGUId Ig AT ¢ & IfFd I8 JeIar g & ag
fohder av S|

SROT (R): SNaeT Tsh AU & 3JAR, o7 3o1h Jarfagia & &g
ST 3YSRTHT & |

Both A and R are true and R is the correct explanation of A.
Aa’lﬁAﬁTRW%ﬁTR,AWHﬁW%

A is true but R is false
Pl awer & At R 3w 3

Both A and R are true, but R is not the correct explanation of A
¢ el A 3R R g, offcheT R, A T TET SITEAT 18T il
D|A is false but R is true




AN ¥ afFaRET §

Answer Key: C

Q49 : Assertion (A): Leontief Paradox contradicted Hecksher-Ohlin theory.

Reason (R): USA exported labour intensive products.
FYA (A): To3fifeds Wisied o g 3efo Rgyia & @s |
HRUT (R): g T IANHT o HH-FT 3cUIGr & ey fohar|

Both A and R are true and R is the correct explanation of A.

gl AR RET § 31 R, A &7 TET TISEGIT §

A 1is true but R is false

AT ¢, afheT R 30T &

Both A and R are true, but R is not the correct explanation of A

gl A 3R RIT & IfhaT R, A & TEY cImear AT Har

D

A 1is false but R is true

A3NET § AfFARIT &

Answer Key: A

Q50 : Assertion (A): The new endogenous growth theory examines production

function that shows increasing returns.
Reason(R): Because of specialization and investment in knowledge capital.

FYUA(A): 1T AT AR FASUTT 3cUTesT T HI ST T & o
JodT Ufahel &l g2ATarg |
SHROT (R): TAQATTAm 3R AT Yolt # AT & HROT |

Both A and R are true and R is the correct explanation of A.

gl AR RET & 3R R, A FT T8I TISEIUT §

A is true but R is false

AT &, ofheT R 3TT &

Both A and R are true, but R is not the correct explanation of A




gl A 3R RTET ¢, Afhed R, A 7 TEY TTRAT AGT hdl

A 1is false but R is true

D

ANET ¢ AafFaRET §

Answer Key: C

Q51 : Assertion (A): National income increases if investment is greater than saving.
Reason (R): Saving and investment are planned by same individual.

FYT (A): I T H e I ST @ A T I F ey

Bl & |
FROT (R): gad 3R 9T & & Fiad garT fAdifed [ha ard g

Both A and R are true and R is the correct explanation of A.
AaﬁﬂTAaﬂTRWi‘faﬂTR,AwaﬁrW%
A is true but R is false
Pl awe g, oifohe R 39T &
Both A and R are true, but R is not the correct explanation of A
¢ alal A 3R RIT &, dfhd R, A Y T8y =arEar g1 ear
A is false but R is true
Pl A s g AfPT R AT §

Answer Key: A

Q52 : Assertion (A): Disguised unemployment is present in Indian agriculture.
Reason (R): Marginal productivity of agriculture is close to zero.

HUA (A): AR HIT F SeH SUSNT AlSE © |
SHROT(R): S T AT ScUTeehdl Yed HHS ¢ |

Both A and R are true and R is the correct explanation of A.

gl AR RET & 3T R, A T TET TISEHIOT ¢

A is true but R is false

AT &, ofheT R 3TT &




Both A and R are true, but R is not the correct explanation of A

gl A 3R RET g, Afhed R, A &7 HEY <ITEAT ARl

A 1is false but R is true

D

AT & AfFTRIAT &

Answer Key: B

Q53 : Assertion (A): Removal of poverty remain a central concern of Planning in
India.
Reason (R): Development is not just about factories, dams and other
infrastructure. It is basically about human being

FUA (A): ARA H AT 1 ve Ffega Rar 78 gemm & &
FROT (R): faerre Rt wREEr oty 3R 377 gy o & an # o8
€. T8 AT ¥ ¥ 5T AT &

Both A and R are true and R is the correct explanation of A
AaﬁﬂTAaﬂTRWi‘faﬂTR,AwaﬁrW%
A is true but R is false
P A ger £ afaT R 3w #
Both A and R are true, but R is not the correct explanation of A
¢ gl A 3R RIT &, dfheT R, A &7 TEY <IrEdm AgT
A is false but R is true
Pl A s g AfPT R AT &

Answer Key: B

Q54 : Union Cabinet has proposed to provide "Housing For All" by the year
ST FNASS o @ F AT 37ard 1 g9 F v fFa a¥ a& &

8T I@T §

2019

2019

B 2021




2021

2022

2022

2023
D

2023

Answer Key: C

Q55 : Which of the following taxes is most likely to be regressive?

fF T & @ FTd T & giAenAr g A 3 GHEeT g2

Sales tax on mobile phone

A Bl W fSshr X

Excise duties on kerosene

AT & dd W 3cdre Yok

Import duties on electronic goods

AN AN

g feleh IEIIT W AT Yoeh

Entertainment tax

D

HARoTe X

Answer Key: B

Q56 : Who among the following did not estimate the incidence of poverty in India?

fAefaf@d & @ fhas 4T & TR i YT HT AT el
STaT?

B.S.Minhas

1. T, FAeeg

P.K.Bardhan

qY. &, Fee

C | V.M.Dandekar and N.Rath




dl. TH. eeI U9 U, I

Raj Krishna

D

Aol htuTT

Answer Key: B

Q57 : The fundamental cause for the collapse of the Bretton Woods system was the

SieeT g58 yeufd dr FAIC HT Fel FROT AT

Liquidity problem

deldl HHEHI

Adjustment problem

ARSI JHET

Confidence problem

faearw gaTar

All of these

D

I gl

Answer Key: D

QS8 : The upper portion of kinked demand curve is

fashfRrd AT ash &1 398 sT §

More elastic

I+ AER

Relatively inelastic

arafeie dkl WeadadagR

Less elastic

HH AIER

D |Perfectly inelastic




qUIAT SelleR

Answer Key: A

Q359 : Equality in the Marginal Rate of Technological Subsititution (MRTS) between
labour and capital leads to optimization in

HH TI Yol & HET Tehellen! FTaEUTTA 1 HHATTT &I (MRTS)
AT ThaH 3eTehelel TEdd il &

Consumption

3THIET

Production

ScHige

Composition

TgceT

None of these

D

$TH IS e

Answer Key: B

Q60 : If marginal propensity to consume (MPC) is equal to average propensity to
consume (APC) for all levels of income (Y), consumption (C) will be

Ifg 3T (V) F 9d% TR W 39T FH WaAa 9afd(MPC) 3usiar
3N 9gfA(APC) & SIS &Y, oY e 3UsHer (C) g

a+by

a+by

a+b/y

a+b/y




Answer Key: C

Q61 : Which one of the following is a measure of the central tendency ?

frfafEa & @ Flaar S ggfa & A9 FRar &2

Mean, median, mode

HIEH, ATTCI, TgeTh

Correlation

g

Dispersion

3rafeRoT

Kurtosis

D

g
cOo

Answer Key: A

Q62 : Match the following appropriately

List | List Il

(2} Dumping (i) Monopolistic competition

(b) Price rigidity (ii) Oligopoly

(¢} Horizontal straight line demand curve (i) Competitive firm

(d) Many sellers & buyers with differential product (iv) Discriminatory monopoly
3d A RIfT:

ei() el
(a) &oT (i) THIORIcHS Fraafrar
(b) == wERar (i) 3R

(c) afas W ™@a a7 3% (iii) wfaEet &
(d) afeg sl & a3 Far (V) Rrdgess tefsR
a2 [Asear

(a) (b) (c) (d)
(iv) (i) (iir) ()




(a) (b) (c) (d)
(iv) (i) (iir) ()
(a) (b) (c) (d)
(i) (iv) (i) (i)
B
(a) (b) (c) (d)
(i) (iv) (iir) (i)
(a) (b) (c) (d)
(if) (iv) (i) (i)
C
(a) (b) (c) (d)
(ii) (iv) (i) (iif)
(a) (b) (c) (d)
(i) (ir) (i) (iv)
D
(a) (b) (c) (d)
(i) (ir) (i) (iv)

Answer Key: A

Q63 : In Human Poverty Index (HPI), India's rank in the world is
ATAd IR Faehieh H R H7 faeq & T §

Seventh

\J

HIddT

Third

T

C |Eight




3raar

None of these

D

$TH H PG EH

Answer Key: D

Q64 : According to Pigou, social welfare improves when

W] & 3HTHR HATSR HedoT H JefTr gl § oI«

National income increases

TSC 31 A g el &l

National income is redistributed

TSET T T ATTAR0T FRT SATelr B

Both (National income increases) and (National income is redistributed)

ST, TSE 3T A G gl § TAT TUSET 3 T YoATdaRor fomar Srer @

None of these

D

ST U HIg G

Answer Key: C

Q65 : Product differentiation is common in which of the following markets?
3cUTG Hed{IhuT il F SR & ATHAT 9 § 91T AT 82

Monopoly

UhITHHR

Perfect competition

quT gfaafardr

Monopolistic competition

TSI RIcHS giaanfaar

D | Monopsony




Ushel WIGR d6IR

Answer Key: C

Q66 : Trickle down strategy explains process based on which of the following
systems?

3T Rama(feerer 33+) fora 3nfde gomelr o 3meaRa &2

Socialist system

TATSATET JOTTell

Mixed economic system

AT srfcgaear yomelr

Capitalist system

EGICICIR NI

None of these

D

ST U HIg G

Answer Key: A

Q67 : Parameter of perfect coefficient of correlation is

qul HE HFEeH A0S FH ATICS &

+1

+1

0.01
D

0.01

Answer Key: A




Q68 : Factor Reversal Test is based on

dcd ScehTEadT IeToT meTRd &

Weighted index

IR Faerreh IT

Simple index

HTHUROT FTehieh N

Fisher's approach

R & gfoeahIorT WX

None of these

D

$TH W @IS e

Answer Key: C

Q69 : Quality of life is affected by
SfaeT &1 IoTadr Fefad g §

Human poverty index

AT HAYeTar Fashie &

Economic development

3+ 9T @

Human development index

AT faeprg g 4

None of these

D

ST U HIg G

Answer Key: C

Q70 : The theory of 'Navapravartan' is related to

'Sq Jadel & [Reyid frdfeiad # & fohg & @Fafeud §?

A| Schumpeter




FHIeT

Marshall

AT

Keynes

Pl

Jevanse

D

Aaeq

Answer Key: A

Q71 : Effective demand indicates

JHTAET AT G &

Employment condition in equilibrium

T H USTIR hr gemm

Unemployment condition

SUSTITRT T &2

Both (Employment condition in equilibrium) and (Unemployment condition)

SIal, AT H YSHIR T ST TAT SASTHTRT Hr g2Ar

None of these

D

ST U HIg G

Answer Key: A

Q72 : 'Theory of Capital Accumulation' is related to

Yoll TaY I FAeurd goef=ed §

Joan Robinson

ST AT

B |Ricardo




Reeprst

Haberler

e

Harrod-Domar

D

gUS-3I X

Answer Key: A

Q73 : An economy is in equilibrium when

dcgerar I H gy § 99

AD=AS

AD=AS

Saving = Investment

gad = f@aer

AD > AS

AD > AS

Both (AD=AS) and (Saving = Investment)

D

alddl (AD=AS) JUT (Fad = fA99n)

Answer Key: D

Q74 : Food corporation of India was set up in

AR @ied e fohd av F T1iaa fRar a3 2

1950

1950

1960

1960

1965

1965

D (1975




1975

Answer Key: C

Q75 : Big Push Theory is related to
forar qer Aeend e @ Foeieed g

Mankiw

Adafrg

Stigler

LIRS

Paul N. Rosentein

Uil Ted. Joleleled

Avinash Dixit

P 37fgaer diferda

Answer Key: C

Q76 : Solow built his model as an alternative to

Al o 39T HAso fhdah QAdhed & 3T & Ta=—T

Kaldor's model of growth

Fieel &1 Qprg Ao

Ranis-fei model of growth

IaT-Fr T [dhrT Azl

Harrod-Domar model of growth

gUS-8IAX T Ay Aol

Meade's model of growth

D:Fh?wmmaﬁgzr

Answer Key: C




Q77 : Sequencing process of Harrod's model of development is

gUs Aera Alsed Hr HiAw ufhar §

Natural growth rate

Tehfceh faehre &Y

Warranted growth rate

g R o

Actual growth rate

arEdide [dhrd el

Divergence

Dﬁim—rr

Answer Key: B

Q78 : Regional trading block agreements

&I SYTIR selleh HASIA

are not considered trade restrictions.

SATIR &hidc el THST SId |

are required by World Trade Organization rules.

faea IR HarosT T & ITER 3TaTH gl

exist primarily in Russia, Africa and South America.

HEIIT &, 3Thepl AT GfaloT 3ARS & 910 S €

make special trade deals with countries in that region and discriminate against
countries outside the region.

Plaw a7 sgei & Ry o o § aor &7 & ax & of & fwey
T X &

Answer Key: D

Q79 : The price index that uses base year quantities as weights is called




AT o forae 3R a§ aRATTHAS TT & ARG 8T &,
FgeldT ¢

Passche's index

urEd gHhieh

Laspeyer's index

EIIT ehieh

Fisher's ideal index

fther 31reel Faehien

D

Wholesale price index

Ui HIAT bl

Answer Key: B

Q80 : What is human capital?

AlTd Gl &1 8?

Total human resource

@WW

Total population

Fol STTGEI

Human resource in productive activities

3carer AfAafedt A SRRy ¥9 8 fAgFd ATa daTee

D

All of these

I g

Answer Key: C

Q81 : The concept of 'learning by doing' was given by

T 2arT 39T (F@=) 3raurReT fFasr & &7




J.R.Hicks

. 3R, B

Kenneth Arrow

STy W

Joan Robinson

Sttt Afdeaet

D

Nicholas Kaldor

IGEACEECACEIN

Answer Key: B

Q82 : Which of the following is not included under WTO regulations ?

g & @ iaar wro [dfagar & gfEafea a8 82

Removal of industrial licenses

iAo TTSEET I HATCT HAT

Removal of import tariffs

AT gefeh I GATCT hlaTl

Removal of foreign portfolio investments

facel AEwIfaaT e s gACT ST

D

Removal of price control

fHAT FIAUT T ATCT HEAT

Answer Key: C

Q83 : Budget is an instrument for

golc Tsh I ¢

Fiscal policy

TR AfT T

Monetary policy




HAifge Aifa Fr

Economic policy

e Afd &

Export policy

D

GRIGEGIGE

Answer Key: A

Q84 : Simplex method is used for solving the problem of

Arafaf@a & O frgear gaEar &1 TATHT S & v R[egesy
YOI ST SANST fohaT STaT &

Linear programming

Y@ grarmiAeT

Input-output analysis

IRTd-3cUTee [aeTyoT

Regression

EIGEEIEC

Correlation

D
earaeel

Answer Key: A

Q85 : Regarding changes in the interest rates, the most sensitive money market is

1T &¥ # aRade g WG9y 30 dageTeNd IR §

Bill market

IECRGISIES

Unorganized money market

Wmﬂaw

C | Call money market




Hiel Hal SR

D

Loan market

RUT SR

Answer Key: C

Q86 : T-test was developed by

Sr-adieTor fohaet fasefaa fham

R.A Fisher

IR, T IR

Sir William Gosset

o afeas Mae

Karl Pearson

ol I

D

None of these

$IH § PIg !

Answer Key: B

Q87 : GNP exceeds NNP by

Fehel T 301G Q[EY TS 391G § 3 §

Total taxes

gﬁrao—{asw

Government expenditure

TTRT T o e

Transfer payments

§EATeROT 373TcTe & SR

Difference between gross investment and net investment




Tohel fAder qUT ey fAder & AR & NN

Answer Key: D

Q88 : Index number indicates

Absolute changes

fader aRad=r

Relative changes

araeT gRadsT

Both (Absolute changes) and (Relative changes)

gt (fAT9aT aRadeT )aur (Fder gRads)

None of these

D

$TH W P15 e

Answer Key: B

Q89 : In calculating buoyancy of a tax, we consider
FT & JHTGT FT 3Teheld Ad THT €T I@T ST §

Only discretionary changes

Fad Tfeos TRad« @

Only automatic changes

$ddl Tad: IRadar W

Both (discretionary changes) and (automatic changes)

al (R aRaddl w)aur (Fad: aRad«dr «)

Neither (discretionary changes) nor (automatic changes)

D

o Tdfeos IRadsr W 7 & Tad: IRadar |

Answer Key: C




Q90 : A consumer's demand curve can be derived from

U SUHFAT I ART-Gh gcdod AT ST Hevell §

Price consumption curve

AT 3THET TH T

Income consumption curve

3T 33U I T

Engel curve

Uoldl d% &

Lorenz curve

D

ST dsh &

Answer Key: A

Q91 : Given median = 46 and mode = 48, arithmetic mean is

mﬁum=463ﬂia§a$=48ﬁ'&maﬁwﬁ?h'€rmwm

45

45

49

49

48

48

94

D

94

Answer Key: A

Q92 : Market at which transaction will be consummated at some specified time in
future is called

T SR e aet-&o7 afasT & foRelt @ @\ W aFgeeT gIam, Sl
el STl &




Spot market

gIfoR deR

Current market

BIGECICIE

Capital market

gl STk

Forward market

D
CIRZCARCISIES

Answer Key: D

Q93 : Main objective of Public Distribution System is

Hraeifeieh [acRoT sgaedr &l H&T 3e8eT &

Export of food

Giedlesl & faard

Import of food

"IedTe=l I 3T

Food security

e gt

Quality of food

D

WeATesT S 0T

Answer Key: C

Q94 : Note : Arrange the following in order in which they appeared. Use the codes
given below:

(1) International Monetary Fund
(i1) International Finanace Corporation
(111) World Trade Organisation




(iv) General Agreement on Tariffs and Trade

Codes:
focer: fAeafaf@d 1 3ad FARER FAdCY ST 586 AT Jeod
e P AT HIfST|
(i) SeTeTARAT Al B8
(ii) SACTAATT PISaT HRURLIT
(iii) Io5 3 efATSSe
(iv) SRl AT 3iTd ¢RBE U3 ¢35
(iv) (i) (iii) (ii)
A
(iv) (i) (iii) (ii)
(i) (ii) (iv) (iii)
B
(i) (ii) (iv) (iii)
(i) (iv) (ii) (iii)
C
(i) (iv) (ii) (iii)
(ii) (iii) (i) (iv)
D
(ii) (iii) (i) (iv)

Answer Key: C

Q95 : Engel curve for Giffen goods will be
fthet a&q & fAT TS ash glam

Positively sloped

TATcHSD Glel dTell

Negatively sloped

RUllcH olel dledl

Vertical

olFsldd

~

Horizontal

SISE]




Answer Key: B

Q96 : Liquidity trap is a situation when demand for money is

eI Sirer Y [Pufa ag & 5 as Jqar & fow a@mr

Zero elastic

YT W HIENT §

Unit elastic

SIS AT &N EIel &

Relatively more elastic

JelelcA® T § SAET AER il &

Perfectly elastic

D

QUi deR 8T §

Answer Key: D

Q97 : If demand function Q = 20 - P? and price P = 2 are given, what will be price
elasticity of demand?

I ART Heled Q =20 - P2 3R AT P =2 &J 1T & dr HAET Fr o
FAT § ?

172

172

2

2

3/4
D

3/4

Answer Key: B

Q98 : The concept of sustainable development was first given by




GO fahra T ITURT Ta9H fhas ganrt gfauifed @ a5 2

Bruntland

-

S

Kindleberger

IEESEEIRS

Raul Prebisch

el OfSer

Keynes

D

g

Answer Key: A

Q99 : Keynesian economics is applicable during

g T 37T 39AET §

Hyper inflation

FETAGT THI Hr gem A

War

e dr g H

Depression

HAEY AT gar H

Full employment

Dt,r\v‘rﬂwﬁraarrﬁ

Answer Key: C

Q100 : Government picked up entire SBI shares held by the RBI on the basis of the
guidelines of

THR & RBIF IR SBI&F RR frgss feam Fdyr w o

A|NSE




T TH 3

NITI Ayog

I 3T

Finance Commission

fa 3maer

D

SEBI

aslr

Answer Key: D




